SUNCROWN
FURNITURE F002010B57-M

6-PIECE WICKER SECTIONAL SOFA & CHAIR SET

Thank you for choosing Suncrown!

Our goal is to provide high quality outdoor furniture
with outstanding customer service-all at an affordable
price.

Please let us know how we are doing!

Problems?

We will fix it immediately. Send us an email at
help@ suncrownus.com. As a valued customer your satisfaction
is our #1 priority.

Happy?

Please leave us a review on Amazon!
You can make others happy too!

WWW.Suncrownus.com



SUNCROWN F002010B57-M
B 6-Piece Wicker Sectional Sofa & Chair Set

Assembly

Fabric cover
bag

CARTON 1/3

CARTON 2/3

CARTON 3/3




Page 1 of 10

SUNCROWN F002010B57-M

FURNITURE .
Right Corner Seat
Item Reference o
no. Image Description | Qty.
Right Arm
A Rest 1
B Seat Back 1
C Seat base 1
D Side Panel | 1 0
M6 x 35
E \@ Socket Head | 11 Attach the right arm rest (A) and the seat back
Cap Screw (B) using M6 x 35 socket head cap screws (E)
with flat washers (F). Do this in two places.
F Flat Washer | 11
4-mm Allen

Flip the assembly upside down. Attach the

seat base (C) to the assembly using M6 x 35 év ;
socket head cap screws (E) with flat washers
(F). Do this in five places.
Attach the leveling foot (G) to the front left
corner. c
///\ !
]
(=
// /// 3 Z =<
{ 7 DD (
| e / - \
:l // ///—‘— -
[l >\_.
l\‘/}:/’-L/\\\\ e N 4 4
v /
’ I~—E >
\\ __________
\\\ F




Page 2 of 10

sUNCRownN F002010B57-M
FURNITURE nght Corner Seat

With the assembly still flipped over, attach
the side panel frame (D) using M6 x 35
socket head cap screws (E) with flat
washers (F). Do this in four places.

Flip the assembly back then place the
seat cushion on it.

_____

-
~~a
~




Page 3 of 10

SUNCROWN FO002010B57-M

FURNITURE Left Corner Seat
Item Reference L
no. Image Description | Qty.
Left Arm
A Rest 1
B Seat Back 1
c Seat base 1
D Side Panel 1
M6 x 35
E \/@ Socket Head | 11
Cap Screw
F Flat Washer | 11
G @ 4-mm Allen
Key 1

(F). Do this in five places.

corner.

Flip the assembly upside down. Attach the
seat base (C) to the assembly using M6 x 35
socket head cap screws (E) with flat washers

Attach the leveling foot (G) to the front right '

Attach the left arm rest (A) and the seat back
(B) using M6 x 35 socket head cap screws (E)
with flat washers (F). Do this in two places.

Y/

W




Page 4 of 10

SUNCROWN F002010B57-M
FURNITURE Left Corner Seat

, \
/

— ]
= \

- \ /

With the assembly still flipped over, attach -~ A ===
the side panel frame (D) using M6 x 35
socket head cap screws (E) with flat
washers (F). Do this in four places.

Flip the assembly back then place the
seat cushion on it.




Page 5 of 10

SUNCROWN F002010B57-M
FURNITURE Center Seat

Item Reference o
no. Image Description | Qty.
A Seat Back | 1
ip the assembly upside down. Attach the

B SeatBase | 1 Flip th bly upside down. Attach th

seat back (A) and the seat base (B) using M6

x 35 socket head cap screws (D) with flat
C Side Panel | 1 washers (E). Do this in two places.

M6 x 35
D p Socket Head | 10
Cap Screw
E Flat Washer | 10
F @ 4-mm Allen 1
Key

With the assembly still flipped over,
attach the side panel (C) to the assembly
using M6 x 35 socket head cap screws
(D) with flat washers (E). Do this in eight

places. e Flip the assembly back then place the
seat cushion on it.




Page 6 of 10

SUNCROWN F002010B57-M
FURNITURE Coffee Table

Item Reference
no. Image

Description Qty.

Side Panels 2

B \ Front & 2
i Back Panel
I
C Table Top 1
D Glass Top 1
M6 x 35
E Socket Head 12

Cap Screw

Flat Washer | 12

@
4-mm Allen

Place the glass top (C) on the coffee
table (A).

Attach all panels (A & B) using M6 x
30 socket head cap screws (E) with
flat washers (F). Do this in eight
places. —_—

Flip the assembly upside down.
Attach the table top (C) to the
assembly using M6 x 30 socket head
cap screws (E) with flat washers (F).
Do this in four places.




Page 7 of 10

SUNCROWN F002010B57-M
FURNITURE Ottoman

Item Reference
no. Image

Description Qty.

A % Side Panels | 2
B \ Front & 2
i Back Panel
C @ Seat Base 1
D @ Cushion 1
M6 x 35
E Socket Head 12
Cap Screw
F Flat Washer | 12
4-mm Allen
G % Key 1

Flip the assembly back then place the
seat cushion on it.

Attach all panels (A & B) using M6 x
30 socket head cap screws (E) with
flat washers (F). Do this in eight

Flip the assembly upside down.
Attach the seat base (C) to the
assembly using M6 x 30 socket head
cap screws (E) with flat washers (F).
Do this in four places.




Page 8 of 10

SUNCROWN F002010B57-M

FURNITURE Single Seat
Ir:gm R?::;Z’;ce Description | Qty.
A
Right Arm | 4
A A Rest
B < Seat Back | 1 /
C Left Arm 1 0
Rest
Attach the right arm rest (A) and the seat back
(B) using M6 x 35 socket head cap screws (E)
with flat washers (F). Do this in two places.
D SeatBase | 1
, M6 x 35 Socket
E Nf@ Heaz Cap %‘::r::w 13
F Flat Washer 13
G @ 4-mm Allen Key| 1

Flip the assembly upside down. Attach the
left arm rest (C) to the assembly using M6 x
35 socket head cap screws (E) with flat
washers (F). Do this in two places.




Page 9 of 10

ROWN F002010B57-M
Single Seat

»
»
FURNITURE

SUN(

V4

2

I\
VA7 - —\

v/

)-

head cap screws (E) with flat washers (F

With the assembly still flipped over, attach
Do this in nine places.

the seat base (D) using M6 x 35 socket

Flip the assembly back then place the

seat cushion on it.




Page 10 of 10

SUNCROWN F002010B57-M
T Finish Assembly

After finishing assembly, use plastic clips to attach each sofa piece.




